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1. (3 + 2)) = 5) = 25	

2. ,-,-.-.
.

= )/
.
= 5	

3. 0/1,
.

= .
.
= 1	

4. 03
,10

= 03
3
= 3	

5. ()-))4

5
= .4

5
= 0,

5
= 2	

6. 7
3
(5) + )

3
(10) = 3 + 4 = 7	

7. √81 = 9	

8. =(313)4-(,13)4-(.13)4

7
= =(/)4-(0)4-(10)4

7
= =/-0-0

7
= =)

7
= 0816

Use	the	following	values:	𝑥1	=	2,	𝑥2	=	3,	𝑥3	=	5,	𝑥4	=	6	
	

9. ∑𝑥Q =	2+3+5+6	=	16	

10. ∑𝑥Q) = 2) + 3) + 5) + 6) = 4 + 9 + 25 + 36 = 74 

11. ∑RS
.

 = )-7-3-,
.

= 0,
.
= 4 

12. ∑(𝑥Q − 1) = (2 − 1) + (3 − 1) + (5 − 1) + (6 − 1) = 1 + 2 + 4 + 5 = 12 
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Use the following five values for X: 4,5,6,6,7, for questions 13-16. 

13. ∑𝑋Q = 4 + 5 + 6 + 6 + 7 = 28 

14. ∑𝑋Q) = 4) + 5) + 6) + 6) + 7) = 16 + 25 + 36 + 36 + 49 = 162 

15. (∑𝑋Q)
) = (28)) = 784 

16. ∑(𝑋Q − 4)) = (4 − 4)) + (5 − 4)) + (6 − 4)) + (6 − 4)) + (7 − 4)) = 0) + 1) +

2) + 2) + 3) = 0 + 1 + 4 + 4 + 9 = 18 

17. 3! = 3 ∗ 2 ∗ 1 = 6 

18. 7! = 7 ∗ 6 ∗ 5 ∗ 4 ∗ 3 ∗ 2 ∗ 1 = 5040 

19. 0! = 1	 

20. 3!
7!(317)!

= 3∗.∗7∗)∗0
(7∗)∗0)()∗0)

= 3∗.
)
= )/

)
= 10 

21. .!
/!(.1/)!

= .∗7∗)∗0
0(.∗7∗)∗0)

= 1

	


